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Divide 3 digit by 1 digit with remainder:

5| 840 5| 883 4 | 538 2 | 804

Word problems:

1. Imagine you bought a box of 150 cookies. You want to divide the
cookies to share with your 5 friends. How many cookies should
each person get?

2. You have a box of 900 red Legos. You want to create 9 towers.
How many Legos will be in each tower?

3. 924 apples were packed in 35 boxes. How many apples were
packed in each box?

4. 642 bags of sugar equally loaded in 6 trucks. How many bags
were loaded in each truck?

5. S586 are distributed equally among 2 men. How much money
will each person get?

6. 1f 995 kg of wheat is packed in 5 bags, how much wheat will each

bag contain?
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